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#include <stdio.h>

void asterisk(int 1)

{

ifG > 1A
asterisk(i/3);
asterisk(i/3);
}
printf("+");
}
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#include <stdio.h>

void main()
{
struct node {
int id;
char name[8];
int score;
+ ALOJ;

printf("%d\n", &AIOD);
printf("%d\n", &Al4]);
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/@\ 12 e struct student{
18 16 8 char name[20];
b : int id;
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1 9 struct student *p;
p = Q@ ;
if(p==NULL){
D 43 (G, ) printf("Memory allocation error.”);
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® 4GB printf("Student name?\n");
D4 B F gets(p—>name);
printf("Student id?\n");
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unsigned int do_something(unsigned int X, unsigned int y)
{
while (y!=0) {
int temp;
temp = x % v;
X =Y,
y = temp;
}

return X;
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